| 11/03/08

09.94255.000

ASTROLINE T (NO)

-de-poele.com

~wWww:pieces



N° schema

Intitulé

Référence

15

SUPPORT DE GRILLE ASSEMBLE

70.56317.000

18 56238.0 GRILLE ASTROLINE 70.56238.000
20 33020.0 BOUTON 2510S 70.33020.020
22 COUPE FLAMMES ASTROLINE 1 70.76142.000
25 27021.1 LOQUET 70.27021.020
34 77337.1 VERMICULITE LATERALE ASTRO 1 70.77337.000
35 77336.1 PIERRE VERMICULITE COIN ASTROLINE/2000CB 70.77336.000
38 26085.0 VITRE ASTROLINE 1 70.26085.000
40 00341.0 BUSELOT @150 EXTERIEUR 70.00341.020
41 2 p 07107.1 PIECE DE CONNECTION BUSE 70.07107.000
44 10 p VIS DIN 963 M8x30 70.19733.000
48 10 p M6 ECROU CLEVELOCK 70.20001.000
50 10 p VIS DIN 7985 M8x20 70.20301.000
52 10 p ENTRETOISE @16X@10.2X7.5 - SLP15 70.13617.000
54 10 p VIS DIN 963 M6x16 70.19712.000
55 10 P RONDELLE D125 @6XJ12 70.16501.000
59 10 p BOULON DIN 933 M6x25 70.19306.000
63 10 p VIS DIN 963 M6x12 70.19711.000
64 10 p VIS DIN 963 M6x60 70.19722.000
67 S420 : SERVICE-KIT JOINT 5MM 70.79920.000
70 10 p BOULON DIN 933 M6x16 70.19304.000
71 10 p VIS DIN 551 M8x10 70.17210.000
75 10 p VIS DIN 933 M10X75 70.19328.000
76 10 p RONDELLE 10X21 70.16503.000
77 10 p D934 M10 ECROU 70.19406.000




	09-94255-000_ASTROLINE1
	09-94255-000_ASTROLINE1_P2
	Liste_pieces_en_cours2




